
SAP ABAP table AFFWRM {Generated Table for View}

AFFWRM

MANDT [CLNT (3)]

WEBLNR [CHAR (10)]

WEBLPOS [NUMC (8)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

BWART [CHAR (3)]

SOBKZ [CHAR (1)]

KDAUF [CHAR (10)]

WAERS [CUKY (5)]

ERFME [UNIT (3)]

AUFNR [CHAR (12)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

LGPLA [CHAR (10)]

MSGID [CHAR (20)]

MSGNO [CHAR (3)]

LIFNR [CHAR (10)]

FEVOR [CHAR (3)]

DISPO [CHAR (3)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 AFFWRM-AUFNR = AUFK-AUFNR 
0..N

{0,1}

LAGP

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

LGPLA [CHAR (10)]

 AFFWRM-LGPLA = LAGP-LGPLA 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 AFFWRM-LIFNR = LFA1-LIFNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 AFFWRM-MATNR = MARA-MATNR 
0..N

0..N

MCH1

MANDT [CLNT (3)]

MATNR [CHAR (18)]

CHARG [CHAR (10)]

 AFFWRM-CHARG = MCH1-CHARG 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 AFFWRM-LGORT = T001L-LGORT 
0..N

{0,1}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]
 AFFWRM-WERKS = T001W-WERKS 0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)] AFFWRM-ERFME = T006-MSEHI 0..N

0..N

T024D

MANDT [CLNT (3)]

WERKS [CHAR (4)]

DISPO [CHAR (3)]

 AFFWRM-DISPO = T024D-DISPO 
0..N

{0,1}

T024F

MANDT [CLNT (3)]

WERKS [CHAR (4)]

FEVOR [CHAR (3)]

 AFFWRM-FEVOR = T024F-FEVOR 

0..N

{0,1}

T100

SPRSL [LANG (1)]

ARBGB [CHAR (20)]

MSGNR [CHAR (3)]

 AFFWRM-MSGNO = T100-MSGNR 

0..N

{0,1}

T100A

ARBGB [CHAR (20)]

 AFFWRM-MSGID = T100A-ARBGB 

0..N

{0,1}

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 AFFWRM-SOBKZ = T148-SOBKZ 

0..N

0..N

T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

 AFFWRM-BWART = T156-BWART 

0..N

{0,1}

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 AFFWRM-LGNUM = T300-LGNUM 

0..N

0..N

T301

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTYP [CHAR (3)]

 AFFWRM-LGTYP = T301-LGTYP 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 AFFWRM-WAERS = TCURC-WAERS 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 AFFWRM-KDAUF = VBUK-VBELN 

0..N

0..N


